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| Third‘Semester B.Com..De'gree Examinefion, January 2023 -
Career Related Flrst Degree Programme Under CBCSS
o | ~ CoreCourselll |
CX 1341'IHM 1341/TT 1341 : MANAGEMENT CONCEPTS AND'THC-)U-GHTS '
| (2019 Admission Onwards) | |
Time : 3 Hours | - B o ._ -- _ . .Mai.Marks:BO '
SECTI‘ON “A

Answer all questlons in one word or to a maximum of two sentences each Each
questlon carries 1 mark. : _

1. What do you understand by Scientific Management?
2. Name the CIaesical theories of managernent. :

3 ' What"is-'me.ant'by organising? _'

4.  What do you mean by_dé_le‘gaﬁon of ‘aUthori_ty? |

5. Whar is formal orga_nization? .

6. What is"controlling:?

7. What do you understand bj oral communir:atien?

8. Who is a democratic leader?

P.T.O.




9.

10.

Defme quahty
What is knowledge management‘? _
(10 x 1 = 10 Marks)

‘ SECTION -B

Answer any elght questtons in not exceed;ng one paragraph each Each questlon

carries 2 marks

1.
"
13,
14.
15.
16
T
s
19.
20
22,
23.
24,
25.
26.

Enumerate the different types of management skills.
Write a short note on Hawtheme E)tperiments. :
What are the merits of cIassncaI school'P

"Planmng brldges the gap between present and future Comment

Distinguish between delegatlon of authonty and decentralisation of authonty
‘What are the elements of effective control system?
‘What are the different aspects of directing? _

What are the advantages ef participative Ieadership?

Give a brief account of bureaucratic leadership style '

What are the advantages of free reln Ieadershnp style?

What do you understand by transfonhatnonal leadership? _l o
Enurnerate the vanous elements involved in communication process.
What is formal communlcatlon‘?

What are the advantages of oral commun:catlon’? _

State the theory of Maslow’s Need Hierarchy.

Enumerate the three essentlal elements of Total Quallty Management
(8 x2 =16 Marks)
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~ SECTION - c' |

Answer any six questlons in about 120 words each. Each questlon carries 4 marks.

27.
28.
- 29,
30,

31,
32,
33.
B
‘ 35,
a7,
38.

What are the quahttes thata manager should possess?
En_umerate the major fi ndmgsr of Hawthorne experiments.

What are the characteristics of System School?

. “Mlchael Porter is known for his theory of competltlve advantage Elaborate thus
- statement. \

Explain the nature and s-igniﬁcance of pl'anning.', |

Enumerate the dafferent components of orgamsatlonat culture
What is autocratlc teadershlp style'? What are its advantages‘?
Distinguish between tran_sactlonal and transtorrnatlonat Ieaders._
What are the advantages of informal communication?
Describe Herzberg’s Two-Factor Theory of Motivatton'.
Briefly explain the Carrot and Stick Theory of Motivation.
Explain McClelland’s need based motivational model.

B (6 x 4= 24 Marks)

SECTION - D

Answer any two questlons in not exceedlng 4 pages each Each quesﬂon carries
15 marks :

39,
40,

41.

Discuss the contnbutions of C.K. Prahalad and Gary Hamel to the contemporary
management thought. _

Discuss the diﬁerent types of Ieadershlp styles with thelr relative merits and

i dements

Give a brief account of Vroom'’s Expectancy Theory.
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42.

43,

'_44.

3

_D;scuss the main barriers to effectwe commumcatlon in management

What do you understand by change management‘? What are the dn‘ferent klnds '
of change'?

Explain the concept of a Ieamlng organlsatlon What are the features and

' advantages of a learning organlsatlon?

(2 x 15 =30 Marks)
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| ‘Third Serrlester-B Com. Degree Examination, January 2023
First Degree Programme Under CBCSS
- Core Course :

(CommercelCommerce and Tax Procedure and PractlceICommerce and
'Hotel Management and Catering/Commerce and Computer
Appllcatlon!Commerce and Tounsm and Travel Management)

CO 1342[CX 1342[1'1' 1342/HM 1342!CC 1343 : ADVANCED FINANCIAL
ACCOUNTING

~ (2019 Admission Onwards)

Time : 3 Hours. o © Max. Marks 80
SECTION-A

Ansvirer all questions ini one or two sentences each. Eech carries 1 mark; |

1. . What is eo'nsignment?' |

2. Who are the parties in COn_s,ignrrlent_acceuntihg_?

- 3.:. Why joinf_ v’entures a_re needed?

41  What are th.e disadvantaées'of joint ven.t't.rres'?

- 5. In dissolution of firm, what is the journal entry to be passed for recording transfer
' of prof it on reahsatlon'? _ .

6. Wh_en a _ﬁ'rm is oom,pulsonly dissolved?

P.T.O.



10.

What are the objectives of Branch Accounting?

‘In Branch accou_ntiﬁg, what are dep’endent Branches?

Why apportionment of expenses needed in departmental accounts?

In department accounts, how expenses incurred specifically for a particular

department are treated?

coT (10 x 1 = 10 Marks)
SECTION-B _ -

Ariswer any eight qu'es_tions in not exceeding one paragraph, Eééh qijéstioh carries

1.

- 12

13.

_2 marks.

"How Credit Sales Accounting takes place in books of Consignbr? When Del
Credere Commission is given? : R

How stock is valued in consignment accounting?

Usha sent goods costing Rs. 75,50,000 on consignment basis to Gayathri on
1.2.2015 @ 8.5% commission, Rs. 8,25,000 was spent on transportation by
Usha. Gayathri spent Rs, 9,25,000 on unloading. 80% of the goods received
were sold for Rs. 90,00,000, 10% of the goods for Rs. 10,00,000 and the balance

was taken over by Gayathri @ 10% below the cost price. She has sent a demand

- draft to Usha for the amount due show in Usha's Books. Pi_'épare Gayathri_”s

. Account.

14,

15,
16.

17.

A and B enter into joint venture sharing profit 35" and 2/5". A is to purchase
timber in Madhya Pradesh and forward it to B in Delhi. A purchases timber worth

‘Rs. 10,000 and pays Rs. 1,000 as expenses. B received the consignment and

immediately accepted A's draft for Rs. 8,000. A gets the bill discounted for

~'Rs. 7,850. B sold the timber for Rs.16,000. He had to spend Rs.350" for fire

insurance and Rs.300 for other expenses. Under the agreement he is entitled to
a commission of 5% sales. Give joint venture account in the books of A.

What is the nature of Co-venturer's Aceount?

What are the -differe'ncés between Joint Venture .a'nd Consign_rnent?

What was the decision in Garner vs. Murray Case?
' 2 . ' - P-3992







N
i

Lo
«

18.

19.
20,
_ 217'.:
| 22.
e
24

25.

- 26.

At the time of Dlssolutlon what is the liability of a retlrlng partner and the estate

- ofa deceased partner in relatron to debts contracted by the partnershtp firm?-

Whrc_h_are the two _methods of pr_eparmg capital account ina partnershlp ﬁrm? _

What are the objectives of departmental accounts?

‘What is the nature of a branch _a'cco'unt'.?

How petty cash is treated in Branch account?
What is the nature of Branch stock Account?

What is the nature of Good‘s sent to Branch Account?

Journalise the followrng transactions |n the books of the Head office.

(@) Goods returned by Thane Branch on 28" March, worth Rs. 10,000 to its

o Head Oﬁ' ice not recelved by the head office upto 31St March

(b)) Goods worth Rs. 20 000 sent by the Head Office to its Cmmbatore Branch

on 29 ‘March, were recelved on 3" Apnl followrng

(¢) Rs. 50,000 remitted by Ccimbatore Branch to Head Off ice on 28" March
- was recelved on 4t April.

Which are the me.thod_s of preparing departmentaf accounts?_

o (8 x 2 = 16 Marks)
SECTION — C '

Answer any six questions. Each questton carnes 4 marks. -

27 The Bombay Mills Ltd. of Bombay conS|gn goods to thelr Calcutta agent goods

worth Rs. 10,000. They pay charges fright and insurance on the consignment

‘amounting to Rs. 650. The goods were received in Calcutta and in due course

the account sales was received as showing sales Rs. 14,000/-. Prepare
consignment account in the books of Bombay Mills Ltd. The followmg expenses

~ are incurred. Godown rent Rs. 70, insurance Rs. 80, Sundry charges Rs. 18;

Commlsswn amounts Rs 700 -
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28.

Sree Traders of Gujrat purcﬁgised 10,000 sarees @ Rs. 100 per saree. Out of
these 6,000 sarees were sent on consignment to Nirmala Traders of Kolkata at
the selling price of Rs. 120 per saree. The consignor paid Rs. 3000 for packing

- and freight. Nirmala Traders sold 5000 sarees @ Rs. 125 per saree and incurred

29.

30,

Rs. 1,000 for selling expenses and remitted Rs. 5,00,000 to Gujrat on account.
They are entitled to a commission of 5% on total sales plus a.'fur-ther' of 25%
commission on any surplus price realized over Rs. 120 per saree. 3,000 sarees
were sold at Gujrat @ Rs. 110 per saree. Owing to fall in market price, the value
of stock of saree in hand is to be reduced by 5%. Your are required to prepare
Nirmala Traders Account. : I '

What are the advantages and disadvantages of consignment business?-

John and Smith entered into a joint venture business to buy and sale garments to
share profits or losses in the ratio of 5 : 3. John supplied 400 bales of shirting at
Rs. 500 each and also paid Rs. 18,000 as carriage & insurance. Smith supplied
500 bales of suiting at Rs. 480 each and paid Rs. 22,000 as. advertisement and
carriage. John paid Rs.50,000 as advance to Smith. John sold 500 bales of
suiting at Rs. 600 each for cash and also all 400 bales of shirting at Rs.650 each

. for cash. John is entitles for commission of 2.5% on total sales plus an allowance

- of Rs.2,000 for looking after business. The joint venture was closed and the

31

32.

33.
" in the following cases (a) When some expenses are incurred and paid by the firm
" in the process. of realisation of assets and payment of liabilities (b} When

claims were settied. Prepare Joint Venture Account.

X and Y entered into Joint Venture to sell a consignment of timber sharing profits

and losses equally. X provides timber from stock at mutually agreed value of
Rs. 50,000. He pays -expenses amounting to Rs. 2,600. Y incurs further
expenses on cartage, storage and collieage of Rs. 6,500 and receives cash for
sales Rs. 30,000. He also takes over goods to the value of Rs. 10,000 for his
own use. At the close, X takes over the balance stock in hand which is valued at
Rs. 11,000. Pass Journal Entries to record the above transactions in the books

'_ of X.

Which are the different ways in which dissolution of firm may take place?

o ) )
On Dissolution of firm, what is the journal entry payment of realisation expenses

realisation éxpenses are paid by a partner on behalf of the firm (c) When a

partner has agreed to bear the realisation expenses? = .
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34, Sita, Rita and Meeta arepartnérs sharing profit and losses in the ratio of 2: 2 : 1.
Their balance sheet as on March 31, 2017 is as follows : ' '

~ Balance Sheet of Sita,"Riké"and Meeta éé' orj March 31, 2017

. Liabilities - “Amount  Assets Amount

Rs) - (Rs)

General reserve 2,-500":'Ca_'s'h'a't'banl.< 2,500
Creditors 2,000 Stock 2500
Capitals : - Fu'rr:ii.'ture‘ - 1,000
Sita 5000 Debtors . 2,000

. Rita 2000  Plantand Machinery 4,500
 Meeta 1000 8000 I
12500 12500

They decided to dissolve the business. The fd_nowing'amounts were realised :
Plant and Machinery Rs. 4,250, Stock Rs. 3,500, Debtors Rs. 1,850,
Furniture 750. For the service Sita is paid Rs. 60. Creditors paid 2% less. There
" was an unrecorded assets of Rs. 250, which was taken over by Rita at Rs. 200.
‘Prepare Realisation account. '

35. Salt Lake Ltd. Kdlkéta invoice goods to.its branch at Delhi at a profit of 25% on
cost. Prepare Branch Stock Account under Double Column from the following

particulars: ‘
Iéarticulars o  Amount " Pariculars | Amount
. | ' Rs. o  Rs.
{ . - Open.ing stqck ('invoi.ce price) 2b.000 ’N‘ormal Ioss'(iﬁvoice price)'- 1,000
‘. Goods sent to branch (..) 120,000 Piferage of stock () 2,000
| Goods returnto HO. () 5000 Cashsales 97,000

' Goods lostin transit (...) 5,000 Closing stock (..) 30,000
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36

37.

38,

V‘An'swe'r any two questions. Each question cafr,ies‘ 15 marks. =

39.

‘Which are the different joumé!ﬁ"entﬂ'e_s to be_' passed in the bock of Head office, in

the case of independent branches?

How the fql"lowing _expenses é'pportioned. in departmemﬁalm{@Expenses :
on purchase (b} Expenses on sales (c) Expenses on building (d) Expenses on
machines? o , L I .

How inter-departmental transfers are dealt with in dmm accounting?

s {6 x 4 = 24 Marks)
SECTION - D e |

‘Ram of .Patna consigns to Shya_fn of Delhi for sale at ihvojée pncaar over.

Shyam is entitled to a commission @ 5% on invoice price and 25%-of any
surplus price realized. Ram draws on Shyam at 90 days sight for 80% of the
invoice price as security money. Shyam remits the balance of prooea;k after
sales, deducting his commission by sight draft. Goods consigned-by Ram to

- ‘Shyam costing Rs. 20,900 including freight and were invoiced at Rs. 28,400.

Sales made by Shyam were Rs. 26,760 and goods in his hand unsold at

31" Dec represented an invoice price of Rs. 6,920. (Original cost including freight

Rs. 5,220). Sight draft received by Ram from Shyam upto 31" Dec was

- Rs. 6,280. Others were.in- transit. Prepare necessary any Ledger M@m

40,

41.

Suijit : Clearing charges Rs. 1000. Selling expenses Rs. 12,000. Fi

Bharat and Suijit joined together as co-ventures for equal share in proﬁslhmugh

sale of television cabinets. On March 31, 2015. Bharat purchased 2,000 cabinets

at Rs. 1,250 each for cash and sent 1,500 of these to sujit for sale, the gelling
price of each being Rs.1,300. All the cabinets were sold by April 30, 2015 by both
and the proceeds collected. Each venturer recorded in his books only those
transactions conducted by him, final profit and loss being ascertained through a
Memorandum joint venture Account. The expenses met by the venturer were :
Bharat : Freight and insurance Rs. 12,000. Selling expenses Rs. -

between the venturers took place on May 31, 2015. You are hshow |
(a) joint venture with sujit A/c in the books of Bharat (b) Joint venture with Bharat
Alcin the books of sujit; and (c) Memorandum joint venture Account. - o

“Explain how the accounts are 'settled on dissolution of a firm.

P R
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42 Supnya and Monlka are partners who share profit in the ratio of 3: 2. Followmg is
the balance sheet as on March 31, 2020.

. Balance sheet of Supriya and_ Mon‘ika as on March 31; 2020

- Liabilities Amount . . Assets ) o Amount
o : (Rs) . ' _ - (Rs.)

Supriya’e capital - 32,500 Cashatbank ‘ _ 40,500

~ Monika's capital 11,500 _Stock’ - : 7,500
Sundry creditors 48,000 Sundry debtors . 21,500

General reserve 13,500 ‘Less':rProvision for doubtful debts 500 21,000

‘ ~ Fixed assets o : 36,500

1,06500 - 1,05,500

The firm was dissolved on March 31, 2020. Close the books of the firm with the
following information : (a) Debtors realised at a discount of 5%, (b) Stock realised
at Rs.7000, (c) Fixed assets realised at Rs.42,000, (d) Realisation expenses of .
Rs. 1,500, (e) Creditors are paid in full. Record necessary Journal entries at the
time of dissolution of a firm. - ’ _

43. Which are the different methods of branch accounting?

44. Salt Lake Corporatton presented the foliowmg trlal balance on 31.03. 2013 to the
~ H.O. at New Dethi. o '

‘Particulars - Debit Amount _ Particulars Credit amount
' Rs. Rs.
DehiHO. 6480 Sales o 76,000
~ Stock 1.4.2012 L 12,000 Goods supplied to H.0. 12,000
Purchase - 35,600 Creditors _ 3,700
Goods return from H.O. '_ 18,000 ' : ' o
Salaries _ _ 3,000
Debtors 7,400
Rent _ 1,920
Misc. Expense _ - 940
Furniture " ' 2,800
‘CashatBank =~ - 3560 - -
' ' 91,700 - 91,700
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Additional information :

The bfanch account on H.O. books on 31.03.2013 stood at Rs. 920 (Debit). On
31.03.2013 the, H.O. forwarded goods to the value of Rs. 5,000 to the branch -
- which are received on 3" JuIy A cash remittance. of Rs. 2400 by branch on

29" March 2013, was recewed by the H.O. on 2™ April 2013. Closing Stock was

valued at Rs. 5,400. Show the incorporation entries in ‘the books of H.O. showing
~separate Branch Tradlng and Branch Profit and Loss Account and Prepare

Branch Account and Branch Balance Sheet also in H.O. books. R

‘ (2 x15= 30 Marks)

g
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Reg. No.: evieieesisessoranasiosmrne

1"hird _Semester B. A‘IB Sc. Degr.ee'rEx-aminatit.:n January 2023
FII’St Degree Programme Under CBCSS
| Language Course English |
EN 1311.1/EN 1-311.3 : ENGLISH FOR CAREER
(Common for B.AJ/B.Sc. & Career Related Group 2(a))
| (2019'Admissi§n onwards) - o
| Timé :3 Hours - . S Max. Marks : 80

L. 'Answer all the followmg queshons Follow the mstructlons glven in the brackets
wherever needed. . : o

1. The oorrec_t -spelhng of the word ‘biscut’ is
2. The word that is the antonym of “callous” is
‘3. Give a synonym for the word ‘deceptive’.

4. What is ————— (breed) in the bone will not wear out of the flesh.
(Use the correct tense form of the verb in brackets) o

- 5. The adjective form of reluctance is

- (Use the correct tense form of the verb in brackets)

7. The word ‘intn'cate’;is synonym for

Pages:19)  P-3561

6. The child, thinking all was safe, — (attempt) to cross the road.'

P.T.O.




- 10.

11

12,

13

~ I'm having some trouble work out the solution to this equation.

(Underline the error)

* Mr. Pritchard has been to Scotland recently, —— 7

(Complete the sentence with a question tag)

They've ————— the meeting. (Use _the'apprépr'iate phrasal verb)
(a) Called out - o
(b) Calledin

(c) Called by

(d) Calledoff © (10x1=10 Marks)

. Answer any eight of the following questions. -

-Provide one-word substitutes for any two of the phrases ;

- (@) A number of fish swimming together

(b) Easily set_bn fire

(c) In a timely manner

(d) Protected against diseases

Give the antonyrh_s of two of the following words : -
(a) genuine ' ' o

(b) coarse

(c) boisterous

(a) clamp down on

(b) fallthrough
‘(c_) méke.up '
- (d) stick up for

“Make sentences of your own with any two of the following phrasal verbs :

P - 3561



14. Choose the correct option from those given in the brackets :

(a) The four men — towards us. (is walking!are- walking).

btk ontitd

(b) The old woman- .clothes for a liiring. (makes/make)
15 Fillin the blanks using a'coliec'ti\re'hQUn frc_m those given below :
(pack, deck, herd, chest, team) -
(a) He hid this secret dlary in 8 —————— of drawers in his room.
(b) | spotted a ——————— _of wolves at the sanctuary '
16. Use the correct t_e_nse.zof'the.v_erb inthe bracket C
(e)' we ———8— (haS'Iive) here for ten years.

(b) I
17. Fillin the blanks using the suitable degree of the adjectlve grven in the brackets

(recerve) hlS letter a week ago.

Y

- (a) Lead is —————— than-other metals. (heavy)

(b) The tiger is the ————— of all animals. (fierce)
Correct the errors in the words given in italics.

18. (a) Itis recommendable that you charge the mobile phone before first use.

(b) Kindly note our address for all farther communication. '

- 19. (a) She vested all her time |n chattmg and did not ﬁnd the.time to complete her
' work.

(B) In case of a land dispute, the officials will determine how the property isto
be drwdend : _ :

20 Fill |n'the blanks with suitable words from those given in brackets

‘ (obtain, assimilate, perennial, develop)

' It is your duty to train and ————— your mind and acquire knowledge as
Q : much knowledge as you possibly can —————— Knowledge is like a deep
b ’

! well, fed by —————— springs, and your Mind is the little bucket that you ‘drop
“into it : you will get as much as you can .
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21,
I 22.
23.

: (a) Eight do!lars

R

24,

Choose the correct ophon from the brackets :

the price of a ticket. (|slare)

®) |

- be honoured to attend the function. (shaﬂlwould)

Fillin the blankswith the appropriate word from the brackets :

' (before, quite, never, well, once)

("a) These mangoes are ———————— fipe.

(b) He ———— met me in Cairro.

'Use the correcf tense of the verb in the brackets

(a) The tempest the ship ashore. (blow)

over the fence, the thief escaped (}ump)

" Read the pefagréph ahd answer the question'given below :

The National Instntute of Oceanography (NIO) in Goa developed a real-time
‘reporting and Internet aoceSS|ble coastal sea-level momtonng system which has

been operatnonal since 2005. The gauge uses a cellular modem to put on the

Internet real-time sea-level data. By using a cellular phone network, coastal
~ sea-level changes are continuously updated on to a web-server. The sea-level
'gauge website can be made available to television channels to broadcast

real-time vusualtsatlon of the coasta! sea level, partlcu!arly during oceanic

hazards such as storm surges or a tsunami. A network of such gauges along the

coast and the islands that lie on either side of the mainland would provrdodala to
disaster management agenc:es to disseminate wamlngs to coastal oomnunmes
and beach tourism centres. -

(a) What is the function of the NIO's gauge?

- (b) Commenton an additional benefit of such gauges.
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25,

A sanctuary may be defined as a place where Man is passive and the rest of

: 'Nature active. Till quite recently Nature had ‘her own sanctuaries, where man
~ either did not go at all or only as a tool-using animal in comparatively small

numbers. But now, in this machinery age, there is no place left where man

- cannot go with overwhefmmg forces at his command. He can strangle to death all
the nobler wild life in the world today. Tomorrow he certainly will have done 50,

' unless he exercises due foresight and self-control in the meantime.

: "_(a) ‘What predictions do the author make’ regardlng the fate of sanctuanes'?
‘ _' (b) Identify the word in the passage which means the followmg the ability to

26,

n.

. 27.

(@) He had asked you to —

(d) |like Ashley a lot, she’s a very

predlct what will happen or be needed in the future‘?

The first and most lmportant rule of Legitimate or popu!ar government that is to
say, of government whose object is the good of the people, is therefore, as |

‘have observed, to follow in everything the general will. But to follow this will it is
" necessary to know i, and above all to distinguish it from the particutar will,

beginning with one’s self: this distinction is alwa'ys very difficult to make, and only
the most sublime virtue can afford sufficient illumination for it, As, in order to will,
it is necessary to be free, a difficulty no less great than the former arises — that of
p'resérving at once 'the public Iiberty and the authority of govemment. o

, (a) How does the author descnbe a legitimate or popular govemment? |
o (b) What is the one virtue tha_t |s necessary for the peopfe tobeina posutlon to

make known their wnlI'P
(B-x 2 = 16 Marks)

Answer any six of the fOllovving'_quésﬁqns.

Fill in the blanks with the correct option :

~ your answers, hadnt he?

. (mail him/mail to him) L |

(b) The manager ——— all the claims of the'empioye'e and.dismissed
hem (reputed, refuted) ' '

(e) —————— prices cause hardshlp to the poor. (EsealatlnglExcltmg)

person. (denying/dynamic)
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- 28.

29,

30.

31.

Fill in the blanks with suitable phrases from those givén in the brackets :
(ran out, tear up, put up, set up, wore off, pass out, cut back, let in, go out). '

“(a) My doctor wants me to ——————— on sweets.

“(b) We

of shampoo so | had to wash my hair with soap.

(c) The effects of the sedative ————— after a few hours.

(d) I cannot ————— with his attitude.

Correct the errors in any four of the followiﬁg sentences :

o (a') ) Either my mother or my father are coming to the meeting.

“(b) George and Tamara doesn’t want to see that movie.

(c) Your pants is at the cleaner’s. |

(d) One of my sisters are going on a trip to France.

" (e) There was fifteen candies in that bag.

Correct the error in the section in italics in any four of the following sentences :

(a) How a beautiful bride she made!

" (b) What does he think he is!

(c) So ﬁ_ig'eyes you have!
(d) Wow, that hurts! -

(e) Thatsoup was how delicious!

Fill in the blanks with suitable pronouns :

'. (a) My Qrandpairents live in Berlin. We visit ——————— often.
(b) | really like 'Watchingz old shows ——-—— are some of the best things
on TV. ' _

() I'm always talking to —

(d) 1don't recognize the song — is playing.
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32

Correct the error in the words in rtallcs
(a) My knife is sharp than yours '

- (b) Truth is strange than fiction.

~ (c) Heisthe idler boy in the class.

33

~ calmness, and flexibility while relieving stress and ———————— from your body

(d) Bangladesh has the Iarge tea garden in the wor1d.

Fill in the blanks with suitable words‘frOm those given in brackets :

(ailments, strength suffer, ha&ncny.‘- tension 'recover tackles, outlined)

Yoga is a series of physical exercises that use the body and mlnd to create_ _

and health within yourself. Yoga allows you to gain

About 2000 years ago in India, a wise man, Pantanjali, —————— the system
for Yoga. In his writings, he explains how Yoga —————— both physical and

. emotional ————— Yoga can not only help you ———— — from a
physical condition but it also can help those of us who ———— from anxiety
or depression. ' :

35.

Fill in the blanks with the suitable conjunction :

(@) He ran away ————— he was afraid. | _

(b) You can have an ice cream —————— a brownie sundae.
(c) Our hoard is llttle ———  our hearts are great.

(d) Heis ——— foollsh ——— stubborn.

Rewrite the sentences replacmg the italicised words wnth the appropnate word'

from the brackets

(cosmopolitan, a cartographer a recluse an octogenanan a polyglot an atheist, .

an optimist, an immigrant)

: (a) ltis not easy being a foreigner who comes to setﬂe in the USA.

B (d) We need a person who makes maps or charts to decode these crypt.-c '

(b)_ My grandpa is eighty years old.

{c) | took up Spanlsh to become someone who speaks more than one
Ianguage

maps.
7 | P - 3561




- 36

Read thé 'passage. and answer the questions given below :

“The Indian Army is the land-based branch and the Iargésft cbmponeht- of the

Indian Armed Forces. The President of India is the Supreme Commander of the
Indian Army, and it is commanded by the Chief of Army Staff (COAS), who is a
four-star general. Two officers have been conferred with the rank of field

* marshal, a five-star rank, which is a'ceremonial position of g_reat honour. The
Indian Army originated from the armies of the East India Company, which

eventually became the British Indian Army, and the armies of the princely states,
which finally became the national army" after independence. The -units and

regiments of the Indian Army have diverse histories and hmparhapated in a
number of battles and campaigns across the world, earning a large number of

battle and theatre_honours before and after Independence. <

(a) Identify a word from the passage that means ‘a part or element-of a larger
~ whole’. o . - AR

(b) Use the word ‘ceremonial’ in a sentence of your own.

 (c) Who commands the indian Army?

37.

(d) Trace the origin of the Indian Army.

The trend toward cohmddiﬁcation ‘of high-brow art took an ominous, if

: predictable,‘tum in the 1980s during the Japanese “bubble economy.” At a time
when Japanese share prices more than doubled, individual tycoons and
industrial giants alike invested record amounts in some of the West's greatest
masterpieces. Ryoei 'Saito, for- example, pu;chased van Gogh's Portrait of

Dr. ‘Gachet for a record-breaking $82.5 million. The work, then on loan to the
Metropolitan Museum of Modemn Art, suddenly vanished from the public domain.
A representative of the Van Gogh museum, conceding that he had no legal

redress, made an ethical appeal to Mr. Saito, asserting, “a work of art remains

the possession of the world at large.”

- (a) !dentify a word from the passage that means ‘dark’ or ‘menacing.’
(b) What did Mr. Saito purchase and at what cost? _
" (c) Use the word ‘masterpiece’ in a senténce of your own.

(d) What was the request made to Mr. Saito by the rap_res'eﬂ_tative of the Van
_ Gogh museum? : - . N
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Surveillance has increased manifold since the 9/11 terror attacks on the World
Trade Centre in the U.S. This increase in surveillance today shapes the
relationship between the state and the individual. The state keeps an eye on its -

~ citizens, thereby positing each and even citizen as a potential wrong-doer. For

instance, the proliferation -of the CCTV cameras in streets, restaurants and in

“every imaginable public space. In fact, the camera need not even be functional in

order fo make the citizens behave themselves — its mere presence is enough to
scare the citizens into submlssion Such is the power of the mere potenttal of

-survelllanca

(a) Identify a word from the brackets that means survelllanoe

(scrutiny, intelligence, a&ack susprc:on)
(b) Give the antonym of pmhferatlon
(c) Which event resulted in the increase in survelllance'?

" '(d)- What power does the process of surveillance possess?

V.

39.

(6 x 4 = 24 Marks)

Answer any two of the foﬁowlng questfons choosmg one each from any
two Group . .

GROUP A

Read the followlng passage and answer the questions glven beiow

In 1970 geologlsts Kenneth J. Hsu. and William BF Ryan were oollectlng-
- research data while aboard the oceanographic - ‘research vessel Glomar

Challenger. An objective of this particular cruise was to' investigate the floor of
the Mediterranean and to resolve questions about its geologic history. One

. question was related to evidence that the invertebrate fauna (animals without

spines) of the Mediterranean had changed abruptly about 6 million years ago.

- Most of the older organisms were nearly wiped out, although a few hardy species

survived. A few managed to migrate into the Atlantic. Somewhat later, the

~ migrants returned, bringing new species with them. Why did the near extinction

and migrations occur? Another task for the Glomar Challenger’s scientists was to
try to determine the origin of the domelike masses buried deep beneath the
Mediterranean seafloor.
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With questions such as these clearly before them, the scientists aboard the
Glomar Challenger proceeded to the Mediterranean to search for the answers,
On August 23, 1970, they recovered a sample. ' o

The investigators theorized'that about 20 million yea'rs ago, the Mediterranean
was a broad seaway linked to the Atlantic by two narrow straits, Crustal
movements ciosed' the straits, and the landlocked Mediterranean began to
evaporate. Increasing salinity caused by the evaporation resulted in the
extermination of scores of invertebrate species. Only a few organisms especially
tolerant of very salty conditions remained. Later, under the weight of overlying
sediments, this salt flowed plastically upward to form salt domes. The -
Mediterranean was a vast desert 3,000 meters deep. Then, about 5.5 million
years ago came the deluge. As a result of crustal adjustments and faulting, the

~ Strait of Gibraltar, where the Mediterranean now. connects to. the Atlantic,

opened, and water cascaded spectacularly back into the Mediterrahean As the

. pasin was refilled, normal marine organisms returned. The salt and gypsum, the

faunal changes, and the unusual gravel provided abundant evidence that the

Mediterranean was once a desert.

is the word used in the passage for 'Iobk_ into’.

1.

2. The.wordr - : in the passagé is rela_{ed t_d ‘the séientiﬁc study of
oceans’. ' - ' : -

3. __is a word from the passage that is an antonym of ‘gradually’.

4. The phfase, ———in the passage means ‘to obliterate’.

5. Use the word ‘spectacular’ in a sentence of your own.

6. The synb_nym for ‘cascade’ is

(a) steps’ ' (b) pour rapidly into

'(c) glitter - - (d) transform

is a word from the passage that is an antonym of ‘scarce’.
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, 8. Identify the statement which is true.
(a) The Medrterranean has undergone no change for millennia |
(b) The Medlterranean is an ocean
('c.) The Mediterranean lransformed mto a desert for a period of ime
(d) None of these e . ' '
9. Whatwas the ob}ectwe of the research by geologists Hsu and Ryan?
10. Menticn one of the major questlons related to the above objecttve '

11'. According to theorists, what was the Medlterranean hke 20 mllhon years
ago?. .

| 12 How did the Medrterranean become landlocked?
“13. _What impact did this have ecologrcally?
14. What is the Strait of Gibraltar?.
15. Suggest a surtable title for the paSSage

OR

 40. Answer all the fo!lowmg questlons

Fill in the blanks with surtable artlcles, preposrtrons conjunctrons adverbs or
adjectives.

1. John answered the questron
We playeda ———— tough match yesterday.

talkmg about vrsrtmg his ancestral home.

He is
She passed the exam ——————

‘She walked : down the road.

little excited because its ————— Friday. There are
lot of good shows on TV today one | usually
watch is at 3:30. '

I'm.

‘..“__ =III o - ‘
o o e w N

‘7. Please get me a bag of _— apples.
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a1,

7 '1'5.7 _Why was such a letter written by your brother? (Use a

8. The dlnner party went

9. ——-—-— spnng arrlves we have to be prepared for more snow _‘ _

10. ThIS salad is ————— dehcnous —_—— healthy

Rewnte as dlrected

11. - He will ﬁmsh the work in a fortnight. (Use passm m)

12. He said to me, “I don’t belleve you (Change to i

13. I wish | were young agam (erte an exclamatory S

~ 14. He requested him to wait there till he returned (C ang speech).

OR

_ Read the passage and answer the questlons given behw

Pareonto!ogists have argued for a Iong time that the denuse of the d‘mosaurs was
caused by climatic alterations associated with slow changes in the positions of
continents and seas resulting from plate tectonics. Off and on throughout the

Cretaceous (the Jast “period of the Mesozoic era, during which dinosaurs

flourished), large shallow seas covered extensive areas of the continents. Data

from diverse. sources, mcludmg geochemical ewdence preserved in seafloor

sedlments indicate that the Late Cretaceous climate was milder than today’s.
The days were not _too hot, nor the nights too cold. The summers were not too

- warm, nor the winters too frigid. The shallow seas on the continents probably

buffered the temperature of the nearby air, keeping it relatively constant.

At the end of the Cretaceous, the geological record shows that these seaways

retreated from the continents back into the major ocean basins. No one knows
why. Over a penod of about 100,000 years, while the seas pulled back, climates
around the world became dramahca!ly more extreme; warmer days, cooler
nights; hotter ,summers, colder winters, Perhaps dinosaurs could not. tolerate

these extreme temperature changes and became extinct.
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_ Dissatisfaction with cothﬁtion‘al explanations for dinosaur extinctions led to a
“surprising observation that, in turn, has suggested a new hypothesis. Scientists '
hypothesized that a single large asteroid, about 10 to 15 kilometers across,
' collided with Earth, and the resulting fallout created the boundary clay. Their
calculations show that thé impact kicked up a dust cloud that cut off sunlight for
several months, inhibiting. “photosynthesis in. plants; decreased surface
temperatures on continents to below freezing ; caused extreme episodes of acid
rain: and significantly “raised long-term global temperatures through the
~ greenhouse effect. This disruption of the food chain and climate would have -

eradicated the dinosaui‘s'at_id other orgénisms in less than fifty years.

1. The synonym'for'*ﬂéufi'sh’ is

(a) thrive - - (b) shake :
(c) impress B () address - . _
2. The word : __— in the passage relates to the cherhical composition

of the earth and its rocks and minerals.

3. Findthe word in the passage that is the antonym of *hot’.
The word ‘buffer’ in the pgssage is closest in meaningto
~ (a) erupt . (b) shower o
~ (c) shield ~ (d) none of the above o
Use the word ‘evidence' in a sentence of your own. I
\dentify a word from the passage that means’ ‘consequence or result of
something.’ R ' o

(a) fallout (b) " dismal
(c) experience (d) none of the above

7. Use the word ‘eradicate’ in a sentence of your own.
8. ldentify the statement which is true :
(a) The climate during the late Cretaceous was harsh.
(b) The climate during the late Cretaceous was cold.
(c) The climate during the late Cretaceous was mild.
(d) None of these. - ‘ -
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14,
15.

9. What reasons did . paleontologists assomate w1th the demlse of the

dlnosaurs’?
10. Define Cretaceous

11. ‘What condltlons contnbuted to the moderate :emperature of the
Cretaceous? ‘

12. What happened once the sea pulled back?
13.

'Suggest a sultable title for the passage.
"GROUP B

Spot the error in the underllned sections in the followmg sem |fthere isno

error, the answer is ‘d’.

'.1; meg to his |II health he will not be able to gM-:_th_em m Erro
| a b )
2. He 'Qrostrated himself before his master wg_mmm_mm
' a b : c o
No error - -
3. Helentme some money on the condition that | should
. a o ‘ b ‘ S
return before November. No Error.
c o d
4. Ravi was-gggfbached the money Iender and requested him
b o
to lend hlm some money. No Error. o
5. Currently, worklng from home nave beoome common m M
a
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. “Pull it_' out by its gliJ_g,_ not by the dord," said dad. No error.
- ' a b c  d

7. Either the céptain-orfsameone from his crew is responsible for this mistake.

a : o b c
8. She reimbursed _back the money which | had spent durin
- ec et . _—_p_______g. ‘ — ' [

' our journey to Jaipur. No error.
. c - d

9.  Either Lisa or Karen will always volunteer their valuable time

_ to serve on our board. No error
N oo d .
10. When she entered the room, she found the child
ST s L b ‘

sleeping peacefully. N_o_m
c d

11. “They had went to the lake without me”, Jack complained. No efror.
' a b c - d

12, Doxouthink they will cept our én_M&MM
a B - ¢ d

13. The cngersation Mth h er M' er .had a profound affect on her. No error
' a b ' ¢ - d

14. Anyof these picturesis notworth seeing. No error.
. a - b - c d

15. Symptoms of this illness includes fever, vomiting and.diarthoea. No error. -

a . N b c d
OR |
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43. Read the'bés’éage and answer the questions given below.

. The Alaska pipeline starts at the frozen edge of the Arctic Ocean. It stretches
southward across the lérgest and northernmost state in the United States, ending
‘at a remote ice-free seaport village nearly 800 miles from where it begins, It is

massive in size and extremely complicated top operate.

The: steel pipe crosses windswept plains and. _eridfee,__s__n’tiles of delit:ate tundra
that tops the frozen ground. It weaves_through--q@lﬁdf_canyons, climbs sheer
‘mountains, plunges over rocky crags, makes its way timeugh thick forests, and
passes over or under hundreds of rivers and streams. A liftle more than half of
the pipeline is elevated above the ground. The remainder is buried anywhere
from 3 to 12 feet, depending largely upon the type of terr :'

the soil. _ _ R

One of the largest in the world, the pipeline cost appra;
by far the biggest and most expensive construction' prg
private industry. In fact, no single business could raise thatinu

major oil companies formed a consortium in order to share the costs. Each
company controlled oil rights to particular shares of land in the oil fields and paid
into the pipeline-construction fund according mﬂwdza of its holdings. Today,
despite enormous problems of climate, supply shortages, equipment
breakdowns, labour disagreements, treacherous terain, a certain amount of
mismanagement, and even theft, the Alaska pipeline has been completed and is
operating. ST o '

1. The word ‘remote’ infﬂua:.passégeis'cldsesﬁnmeaning to |
(a) 'électr@nic 6ev_ice o _-.(b) u;_:reféted, o

(0 siz‘gap!é__ ) : | (d) 'faraWayfro.mciM - B

| 2. " The phrase ‘windswept plains’ in thé balsus‘sége is ciosesth!ﬂmmg ‘to. :
(@) unshelteredland ~ (b) bayou | ;
(cj plateau . (d) mountain |
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3. Flnd the word in the. passage which is the antonym of ‘molten’.
4. Use the word oomplicated ina sentence of your own..

5. The phrase piunges ov,e_r’ in the passage means

@ cimbup (b)'stream by
~ (c) falls over ' (d) flow across ‘-j

is a word in the passage which means ‘bent or ‘twnsted !

7. The word consortium' in the passage means .
“(a) - an assocuatlon RN (b) aoondttton T
(¢) aresult o (d) none of the above

8. Use the word ‘treacherous in a sentence of your own.

9. _,tdent.fy the statement which is-true with regard to the Alaska plpeline )
(a) One company hetds the rights to it.
(b) Several govemments together hold the nghts o
~ (¢) A consortium of e@tt oil companies hotds the rights. -
(d) None of these '
10. Whatis the Alaska plpellne‘? _
'- 11.. Describe the terrain on‘whieh the pipelihe is built.

" 12. A consortium was formed for the construction and operation of the pipeline.
Why? S

13. Howis it sig’nif icant in terms 'of'--si'ze and cost?
14. What were the chal!enges, excludmg the oost faced while constructtng the
o plpellne‘? : e : : :
_ '1 5'. Suggest a suitable title for the passage.
OR
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44 Answer all of the foltowmg questions. Fill in the blanks with suitable articles,_ :
prepositions, conjunctions, adverbs or adjectlves ‘ o

1.

2.

2

© ®» N o

My brother loves animals. He just broUght a 'p'uppy‘ :

'We could cook dinner

) Mane was born in 1867

_after high school

They travelled the river.

-a- kitten

hom_e with him.

, we coutd buy some takeaway food

Warsaw, Poland ————— an
early age, she displayed a bnlllant mind. Her great exuberance
learning prompted her to contmue ——————— her studies

_ doss she snoy cycin,

Jennifer does not like to swim, —

 His two favourite sports are footba_tl — tamis B
Heis mtelligent veryfum_y
The treasure lies the box

The catis sleeping the bed. :

| wake up early.

Rewrite as directed :

1.
12,
13,

14.

15.

Of his bifth many tales are told. (Write in active voice)

Only the b.ra.ve deserves the praiee (Change into negative)

“Please srt down” , said the headmaster (Change lnto lndlrect Speech)
They proclaimed him king. (Write in passive vorce)

His father told him that he was ashamed of him. (Change into direct speech)
(2x15=30 Marks)
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Thrrd Semester B. Com. Degree Exammatlon, January 2023 '
Career Related First Degree Programme Under CBCSS
Group 2(a) - Commerce and Tourism and Travel Managemen_t
o ' “i(ocational Ceur_s_e "
TT 1372 : TOURISM REGULATIONS
(2019 Admission onwards)

- Time:3 Hours . | S | B © Max Marks: 80
CPART-A -~

Answer -all. guestions is not exceedlng 1-2 sentences each Each question carrles
1 mark ' . . .

1. 'What is an official paéepon?
2. Whatis a tourist visa? .

3. .'D'efin_e insurance.

4. } ..what is foreign exchange? ‘-
5 . Detine antiquities |

6. _ What is the meamng of tourlst area under Kerala registration of tourlst and trade _
: act 1991 ?

7. Define catering.

P.T.O.



8.

9.

10.

Define hospitality law.
Define environmeht..

What is save chaliyar movement?

PART B

Answer any eight questlons in not exceedmg one paragraph each Each questlon

carries 2 marks.
1. What is.an Indian pase.port'?. :
12 -‘ What is a visa? |
13, _Wh.at‘ are the decdments'requ'ired for obtaining paesport?
14. Why.shoald a Tourist be advises to exchange currency through legal channels?
15. Exp_lain on f_orei.gn travel tax. R
16. Whatis law of cheating? |
17. Who is a hotel keeper as per Kerala reg|strat|on of tounsm and trade act 1991'?
‘_18. Why |s hygnene |mportant in catenng regulatlons‘? .
19. Whoisa person on parole accordlng to the forelgners act'?
20. Explain on FSSAI._ . _
21. What does the Indian wildife protection act of 1972 deal with?
22; Explain on co'ﬁ'servation control measures suggesfed by WTO.
23. Why is it necessary for tourism professuonal to. obtain knowledge about
regulations related to tomnsm‘7 :
24;

What are offenses? -

-2 o | - p-4157
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25,

26.

What is conservation?

What is inbound travel?

. (8 x 2 =16 Marks)
PART-C -

Answer any six questfons in not exceeding 120 words (short essay). Each question

carries 4 marks
2.

28.

29,
30.

3.
32. |

33,

35..
36,
37,

- 38.

B
|

Explain on types of visa. How can a visa be extended.

Enumerate on custom regulations.

Wha't are the documents required for obtaining visa?
Explain on insurance.
What is the role of currency in tourism?

Explain on law of antiquities.

-' Discuss on shopping malpractices r99ulationsl

Explam on section -18 (reglstration) on Kerala reglstration of tounsm and trade

act, 1991.
What is environmental cdncern?

- Explain on food safety.

Name any ten countries with its currency.

Explain on environmental protection.

(6x4= 24 Marks)
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PART—-D"” :

"Answer any two questlons in not exceeding four pages (long essay) each.. Each
question carries 15 marks.

39. Explain on passport act -1967.

40. Déﬂne passport with its types.

41. Elu-d'ida:té‘dn éhopﬁing malpfé'c:tices'.'

42. Whét is_-"the' purpﬁ#e cﬁ 'Iegislatibn cover'ing-th; hospitality sector?
4. .Ex'piain'on' toL:r_ism conservation and preserya'tioh'act'- 1908.

44, Sumrharizé on foreigners act'1_942'. ' o
| o (2% 15 = 30 Marks)
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Third Semester B Corri Degree‘Examination January 202'3 |
Career Related First Degree Programme under CBCSS
Psychology '

Complementary Course for Commerce and Tourlsm and
~ Travel Management

PG 1331.1: PERSONALITY DEVELO#’MEN'*’
| ' ('2020:Admission onwards)

" Time : 3 Hou_l;s_, _ | o . o Mék. Marks : 80 '
B | SECTIO.N‘—A |
Answer all questlons Each carries 1 mark

1A Fl" in the blanks

1. Activities that lead to flow experiences are said to be

2. _ __iis your overall opinion about yourself.

3.' The word personality is originated from the Latin WOrd |

4. ‘The abmty to plan pathways to desired goals desplte obstacles is one of
'component parts of the construct known as

5. __isthe ability to understand and share the feeling of others.

P.T.0.
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10.

11.
RTS
13,
14,
15,
16.
17.
18.
19,

20.

S 21,

Define the following

JD-ecisio_n making

Dispositional optimism

Wheh. do Flow experience likely to occur?

- Unconditional positive fégard

Self-awareness
SN (10 x 1 = 10 Marks)
SECTION - B o
Answer any eight of the following. Each carries 2 marks. The answer should
not exceed one paragraph.
Body image.
The Rorschach Inkblot test.

Briefly describe the relationship between culture and happiness.

~ Life skills.

Optimistic explanatory style.
Benefits of self-awareness -
Hierarchy of needs

Stress mana‘ge‘ment as life skill.

' Parenting and development of hope in ch_ildren.

Relationship'betwéen' marital status in different cultures and its relationship with

- happiness.

Steps in crea‘tivé problem sdlving.
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22,
23
24,
25.
26,

1]
7.
28.
20,
30.
31.
32,
' 33‘.‘

34.
'35."-7 Snyder’s hope theory
3.
37.

38.

Transa’ctional' analysis.

Real self and rdeal self.

Trait like motwes and subjectNe well bemg
Defense mechamsms '

W_hat are the char_actenstihs of a flow experience.

| - (8 x 2 = 16 Marks)
.SECTtON—.C“ | R

' Answer any six of the fol]owmg Each carries 4 marks The answer should not

exceed 120 words.

' .Cutture and flow experlence _‘
‘Write a note on the deveiopmental of optrmlsm

What is empathy? Wnte about the three types of empathy

Psycho-sexual development stages

Life skills proposed by WHO.

Concept and defi mtton of happiness.
Write a note on person centred therapy

erte a note on SWOT analysrs

Write dn‘ferent aspects of mterpersonal and communication sklll'?

" Eudatmonlo happiness

Define IDEAL, problem solving and its |mphcatron in one. rea! I|fe srtuahon

(6 x 4 = 24 Marks)
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v
39,

40.
41,
42.

43.

SECTI'ON—D -

erte an essay on any two of the following. Each cames 15 marks

_ Explaln creatlwty‘? How can we foster creat:wty in class room settlng'?

Define psychologlcal well-bemg?. Explain how gratitude affects psychological
well-bemg _ ' : '

Bneﬂy explam about the measures of personality.
How relationships a‘ffect‘ 'happiness. Expléin o

Is life skill education a nécessary one in educatlonal settmg’? comment.

- Briefly explaln social Ieammg theory by Bandhura,

(2 x 15 = 30 Marks)
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